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QUESTION NO: 1

You are asked to implement a solution that implements different integration logic, based on an object-type. For example, 
depending on the object type, different external systems and interfaces must be called. The system currently has more than 
50 object types. What is the appropriate design for this problem?

A. a Java activity and implement the solution by means of object-oriented principles 

B. a tree-like cascading set of Null activities to implement a nested if-condition 

C. the Process Dynamic Override in the Call Process activity 

D. the Bind Object-type field in the Dispatch activity 

ANSWER: B 

QUESTION NO: 2

With multicast feature enabled at server side, which class contains the methods to disable the multicast feature at client 
side?

A. TibjmsConnection

B. Factory 

C. Connection 

D. ConnectionFactory 

E. Session 

ANSWER: A 

QUESTION NO: 3

Which two must you specify when using a datapool as the delivery entity when configuring synchronization profile? (Choose 
two.)

A. delivery mechanism 

B. output map 

C. repository listing 

D. input map 
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E. zip file storage location 

ANSWER: A B 

QUESTION NO: 4

Which two resources must be configured to invoke an external Web service using Service

Palette activities? (Choose two.)

A. SOAP Request Reply 

B. Get Context 

C. Invoke Partner 

D. Partner Link Configuration 

ANSWER: C D 

QUESTION NO: 5

Which TIBCO CIM utility is used to apply a hot fix?

A. hotfixUtil 

B. tibcoUtil 

C. tibcoCIMUtil 

D. migrateUtil 

E. customUtil 

ANSWER: B 

QUESTION NO: 6

A JMS Local Transaction Group has: two JMS Queue Sender activities configured with a

JMS Shared Connectionl one JMS Topic Publisher activities configured with JMS Shared Connection2 one Wait For JMS 
Queue Message activity How many transactions will be created for a single job for this transaction group?
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A. 3 

B. 1 

C. 4 

D. 2 

ANSWER: D 

QUESTION NO: 7

Which three statements are true about deploying ActiveMatrix BPM applications to an

ActiveMatrix BPM server node? (Choose three.)

A. If a new project references an artiFact contained in another project, the new project will always deploy but will not run until 
the referenced project is deployed. 

B. Before a deployment server can be created, users must make sure they can log into Workspace and start' process 
instances. 

C. If a project references an Organization Model but not a Business Object Model, the deployment will fail. 

D. If a new project references an artifact contained in another project, the referenced project must be deployed first for the 
new project to deploy successfully. 

E. Users can verify whether their deployment was successful by using the Administrator Explorer View, expanding the 
Application node. 

F. A project or a previously exported DAA file can be deployed by dragging it to the deployment server and dropping it. 

ANSWER: D E F 

QUESTION NO: 8

A publisher application uses a transport with UDP port number 8600 and multicast group 239.1.1.1. Which two sets of 
transport parameters enable a subscriber application to receive messages from the publisher? (Choose two.)

A. Service 6800, Network ";239.1.1.0;239.1.1.1" 

B. Service 8600, Network ";239.1.1.0,239.1.1.1;239.1.1.1" 

C. Service 8600, Network ";239.1.1.1;239.1.1.0" 

D. Service 8600, Network ";239.1.1.0;239.1.1.1" 
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ANSWER: B C 

QUESTION NO: 9

When will a conflict resolution cycle begin?

A. when a rule action agenda is built or refreshed 

B. when a run to completion cycle has ended 

C. when a rule action is executed (or the agenda is empty) 

D. when an external action causes changes to the RETE network 

ANSWER: A 

QUESTION NO: 10

When using the Organization Browser, resources can be mapped to which two entities?

(Choose two.)

A. Positions 

B. Organization Units 

C. Participants 

D. Roles 

E. Groups 

ANSWER: A E 

QUESTION NO: 11

Which two levels of tracing are provided for tracing process resources? (Choose two.)

A. BusinessWorks engine input XML and output XML 

B. only Write to Log activities 

C. any process starters 
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D. only Service Agents 

ANSWER: A C 

QUESTION NO: 12

Where is the Domain Utility run when adding a machine to a domain?

A. on any other machine in the domain 

B. on the machine where the Administrator is installed 

C. on the machine you want to add to the domain 

D. use the Administrator GUI to add the machine 

ANSWER: C 

QUESTION NO: 13

To which state is a process instance re-instantiated when using a database to store process engine information?

A. the last checkpoint 

B. the last received message 

C. the Administrator backup 

D. the last database update 

ANSWER: A 

QUESTION NO: 14

Which of the following can be created by importing an XSD?

A. Business Object Model 

B. Database service task 

C. Process interface 
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D. Form 

ANSWER: A 

QUESTION NO: 15

Which two elements enable message tracing on an Enterprise Message Service server?

(Choose two.)

A. on a message 

B. on a producer 

C. on a destination 

D. on a consumer 

ANSWER: A C 
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